Why Are There Rules in Croquet?

Solve each problem below using a system of two equations in wo vari
Find the solution in the answer column and notice the three letters next to it.

Write these letters in the three boxes at the bottom of the page that contain
the number of that exercise. :

The sum of two numbers is 90. Their difference is 18. Find
the numbers.

The second of two numbers is 4 more than the first. The
sum of the numbers is 56. Find the numbers.

The number of girls at Sky High School is 60 greater than
the number of boys. If there are 1250 students all together,
how many girls are there?

The second of two numbers is 5 more than twice the first.
The sum of the numbers is 44. Find the numbers.

The sum of two numbers is 75. The second number is 3
less than twice the first. Find the numbers.

The larger of two numbers is 8 more than four times the
smaller. If the larger is increased by four times the smaller,
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the result is 40. Find the numbers. 370, 130
A s fl 26, 30

The number of calories in a piece of pie is 20 less than 5

three times the number of calories in a scoop of ice cream. 36, 39

The pie and ice cream together have 500 calories. How

many calories are in each? 350, 150

O

The sum of two numbers is 4 less than twice the larger. If
the larger is decreased by three times the smaller, the
result is —20. Find the numbers.
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What kind of mamlielj [an Hu?

Solve each problem below using a system of two equations in two variables.
Find the solution in the answer column and notice the letter next to it. Write
this jetter in each box that contains the number of that exercise.
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@ Three times the larger of two numbers is equal to four \\\\’4’\\;\'4&%4

times the smaller. The sum of the numbers is 21. Find ﬂ
the numbers. ' @ 22, 6

The difference between two numieis is 16. Five times
the smaller is the same as 8 less than twice the larger.
Find the numbers.

The larger of two numbers is 1 more than twice the
smaller. The sum of the numbers is 20 less than three
times the larger. Find the numbers.

and two tapes cost $29. Find the cost of each record
and each tape.

The sum of two numbers is the same as four times the
smaller number. If twice the larger is decreased by the
smaller, the result is 30. Find the numbers.

®
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(4) Two records and three tapes cost $31. Three re‘cor-ds
®
®

% (D) $23, $41
A group of students go out for tunch. If two have @ $5, $7
hamburgers and five have hot dogs, the bill will be

$8.00. If five have hamburgers and two have hot dogs, “ @ 17

the bill will be $9.50. What is the price of a hamburger?
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The price of a sweater is $5 less than twice the price of a shirt. If four sweaters
and three shirts cost $200, find the price of each shirt and each sweater.

&

A shipment of TV sets, some weighing 30 kg each and the others weighing
50 kg each, has a total weight of 880 kg. If there are 20 TV sets all together,
how many weigh 50 kg?
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